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It is said that the activity of a child"s mind and body is falling rapidly. It is considered as a cause
that many problems in connection with growth environment, such as aggravation of play environment, loss
of natural experience, a child"s isolation, emotion instability, truancy, a physical strength fall, and
reduction in the age of geriatric diseases, are aggravating this with social change, such as urbanization,
natural destruction, the trend toward the nuclear family, the spread of video games, and a decrease in
the birthrate. Although a city park is considered that the role which came for mind-and-body activation
sure enough as a child"s familiar playground is large, the state of the park based on the above social
situations fully needs to be examined. Then, it inquires for the purpose of performing grasp and analysis
of the use actual conditions, such as a basic park for neighborhood a child®s familiar playground, and
performing arrangement of the park for a child, and the proposal of an institution indicator.
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